1 (Sem-3) MDCO4

2024

( Multidisciplinary Course )
Paper : MDC030403

( Business Statistics )

Full Marks : 45
Time : 2 hours
The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x5=5
wore TR Fotram s e

(a) Distinguish between univariate and
bivariate data.
GFF-5EF O TF Fa-bee OUF e 1

for4n 1

(b) 1 Aisa certain event associated with a
random experiment, then P(A) is equal

to

( Fill in the blank )

qﬁA,W@WﬂWaﬁaﬁﬁﬁwm

7, (OCTR’CA P(A)-T T ¥T |
( <R 1R = 741 )

{ Turn Over )
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()

(@)

(e)
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(2)

If r =1, then the two lines of regression
are

At r = +1, (SETRCE TR @41 O 7T

(i) coincident

LIS
(i) parallel
=SS
(iti) perpendicular to each other
A1 =17
(iv) None of the above
8o[qq D18 2
( Choose the correct option )
(o= e A1 Sfereay )

Lockout in a factory for a month is
associated with which component of a
time series?

9Bl FEYFS 9IZ 4R Ol FCART SR
FEICHA ! S F/90 Giow 2

What are the different kinds of error
associated with tests of significance?

ATl ARAFR e Ges [fen gorT @
2

( Continued )

2. Answer the following questions :

A25/258

(3)

et il PRy Teg ford
(a) Define null hypothesis.
& eFsm sigel faan |

(b) Mention two properties of Karl Pearson’s
correlation coefficient.

6 PR T @O o 4 SEy
1 |

(¢) If A and B are two events, not mutually
exclusive, connected to a random
experiment and

PlA) =3, PB) =2 and PAU B) =

then find the value of P(An B).

i A SIF B @51 AR AR TS wive 151
a1, i A9eR fRafere 21, o

1 2 _1
PA) =2, P(B) = = W PAUB) =
(58 P(An B) 3 54 fefg 1 |

(d) What do you mean by skewness?
st e f g ?

(e) Find the harmonic mean of 2, 3 and 5.
2, 3 9 53 TS W4 e 0

2x5=10
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3. Answer any four of the following questions :

5x4=20

oS il erepred R e wifem Tee fora -

(@)

(b)

(c)

(@)

A25/258

The AM and GM of two numbers are 9
and 7-2 respectively. Find their HM and
also the numbers.

T R S N4 9 ¥ ggerad e 7-2.

M WOR 2F T4 el 2
L 9 S 32 YOS

Find the missing frequency for the
following data whose median is 24 :

O S 91 A AR fefy g, qE T4l
24 31 i i, -

(e)

(g)

(5)

What is sample survey? Distinguish
between sample survey and census

survey.

2+3=5

sfffovf w1 5 7 et AT Sre SPoeef sier

afeq ALEPR & |

What is Poisson probability distribu-
tion? Write down the basic features of

this distribution.

2+3=5

o5 FeIfer 359 62 @2 1% ol @FEPTE

foram |
Calculate Karl

Pearson’s correlation

coefficient from the data given below :

wed WU o[l FE PIEased TTEE 89S

Class Interval Frequency
Pl AT
0-10 5
10-20 25
20-30 ?
30-40 1‘8
40-50 7

Zthzi:c is time.series? Give two examples
2 Ime  series data. What are the
€rent components of time series?

< 1+2+2=5
FECAN 52 @ v Tarzae el |
mﬁﬁ»ﬁﬁmm@mgﬁ?@ |

iﬁaoltbeabt:?e mathematical definition of
iity. Also mention its drawbacks-

3+2=5
TBROR afifes  siewy ) o TR
Wﬁﬁww?ﬁﬂ

{ Conﬁnued )

(h)

ey <41 -

x 1 2
y : 3 5

Given ({1 SII(R)

3
6

4
8

5
10

6
11

7
13

X

Arithmelic Mean

MRS

36

85

Standard Deviation

TI7F [a6er

11

Coefficient of correlation between x and

y =066

X IF y 9 Ao DRa BT = 066
Find the regression line of y on Xx.
xq GUS yq AT AN 6T 01
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4. Answer any one of the following questions : 10

et 7l 2pTRa R ole bR Tew foe -

fa) () Define correlation between two
variables. Explain different types of
correlation with examples. 2+4=6

T W9 WS SR k@ ) |
Trzaepie Rieq aema s a4 34 |

(i) Given (fr =iCg)
n=15% =257 =18, F(x-%) =136,
2y-y)=138, Xx-X)[y-7y)=122
Find Txy- 4
rxyﬁmﬂﬁ‘fﬁ?ﬁﬂ

(b) (i) From the data given below,
calculate the trend using 3-yearly

moving average method : 7
3-TLIM R T GRS TEEE  weq
SRR 71T 2o g fefy w9

Year | Sale (in thousand ¥) Year | Sale (in thousand ?)

7=7 R&! (211 Gere) %9 R&} (zrar 5rs)

2001 5 2009 13

2002 7 2010 17

2003 9 2011 19

2004 2 2012 14

2005 11 2013 13

2006 10 2014 12

2007 8 2015

LQOOS 12 -

A25/258 ( Continued )

(c)
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(i)

(i)

(iii)

(7)

Write a short note on any one of the
following :

@] R AT 9B 8ol B (R fora
(1) Seasonal variation

g AZTel
(2) Uses of time series analysis

FEca RereR e[

What is the probability that a
non-leap year selected at random
has 53 Saturdays?

qfRFed q=H T @B e, & foe
W w79, 535 ¥RE @R SwfREe
ERick: |

State three properties of normal
distribution.

o 957 O «f ferar |

Two dice are thrown simul-
taneously. Find the probability that
the sum of the faces is not less
than 9.

w51 ol qerecel Few T 24 | e
quabe dfewe™ @RI KGR @R
ow(F F CIICREN SElfder fefy w11
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(8)

({d (i) From the data given below,

calculate mean and variance : 3+4=7
O] O{ {1 ET Y I 23[9 I
ity =
Profit (X in lakh) No. of Companies
TS (<714 59re) 1 3337

20-30 30

30-40 58

40-50 62

50-60 85

60-70 112

70-80 112

80-90 57

90-100 26

(i) Write a short note on any one of the
following : 3

e R (P GBR 89S 5Y (BT ey

(1) Simple random sampling
method

S iR Tl 2zt elfesan

(2) Test of significance

TS R

(3) Scatter diagram
g foq

* & &

A25—17*/258 1 (Sem-3) MDC04



